# CERTAIN CLASSES OF $k$-UNIFORMLY CLOSE-TO-CONVEX FUNCTIONS AND OTHER RELATED FUNCTIONS DEFINED BY USING THE DZIOK-SRIVASTAVA OPERATOR 

# (DEDICATED IN OCCASION OF THE 65-YEARS OF PROFESSOR R.K. RAINA) 

H. M. SRIVASTAVA, SHU-HAI LI, HUO TANG


#### Abstract

Several interesting classes of $k$-uniformly close-to-convex functions and $k$-uniformly quasi-convex functions are defined here by using the DziokSrivastava operator. We provide necessary and sufficient coefficient conditions, extreme points, integral representations, and distortion bounds for functions belonging to each of these classes of $k$-uniformly close-to-convex functions and $k$-uniformly quasi-convex functions.


## 1. Introduction, Definitions and Preliminaries

Let $\mathcal{A}$ denote the class of functions of the form:

$$
\begin{equation*}
f(z)=z+\sum_{n=2}^{\infty} a_{n} z^{n} \tag{1.1}
\end{equation*}
$$

which are analytic in the open unit disk

$$
\mathbb{U}=\{z: z \in \mathbb{C} \quad \text { and } \quad|z|<1\} .
$$

Also let $\mathcal{A}^{-}$denote a subclass of $\mathcal{A}$ consisting of functions of the form:

$$
\begin{equation*}
f(z)=z-\sum_{n=2}^{\infty} a_{n} z^{n} \quad\left(a_{n} \geqq 0\right) \tag{1.2}
\end{equation*}
$$

which are analytic in $\mathbb{U}$.
A function $f(z) \in \mathcal{A}$ is said to be in the class of $k$-uniformly convex functions of order $\beta(0 \leqq \beta<1)$, denoted by $\mathcal{U K}(k, \beta)(c f$. [10]; see also [6] and [8]) if

$$
\begin{equation*}
\Re\left(1+\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right)>k\left|\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right|+\beta \quad(k \geqq 0 ; 0 \leqq \beta<1 ; z \in \mathbb{U}) \tag{1.3}
\end{equation*}
$$

[^0]A corresponding class of $k$-uniformly starlike functions, denoted by $\mathcal{U S}(k, \beta)$ consists of functions $f(z) \in \mathcal{A}$ such that

$$
\begin{equation*}
\Re\left(\frac{z f^{\prime}(z)}{f(z)}\right)>k\left|\frac{z f^{\prime}(z)}{f(z)}-1\right|+\beta \quad(k \geqq 0 ; 0 \leqq \beta<1 ; z \in \mathbb{U}) \tag{1.4}
\end{equation*}
$$

It is obvious from the inequalities in (1.3) and (1.4) that (see [10])

$$
\begin{equation*}
f(z) \in \mathcal{U K}(k, \beta) \quad \Longleftrightarrow \quad z f^{\prime}(z) \in \mathcal{U S}(k, \beta) \tag{1.5}
\end{equation*}
$$

Each of the function classes $\mathcal{U K}(k, \beta)$ and $\mathcal{U S}(k, \beta)$ provides unifications and generalizations various other (known or new) subclasses of $\mathcal{A}$. Several properties of some of the subclasses of the function classes $\mathcal{U K}(k, \beta)$ and $\mathcal{U S}(k, \beta)$ were studied recently in [9] (see also [6] and [8).

Definition 1 (see [1]). Define $\mathcal{U C}(k, \gamma, \beta)$ to be the family of functions $f(z) \in \mathcal{A}$ such that

$$
\begin{equation*}
\Re\left(\frac{z f^{\prime}(z)}{g(z)}\right)>k\left|\frac{z f^{\prime}(z)}{g(z)}-1\right|+\gamma \quad(k \geqq 0 ; \gamma \in[0,1) ; z \in \mathbb{U}) \tag{1.6}
\end{equation*}
$$

for some function $g(z) \in \mathcal{U} \mathcal{S}(k, \beta)$.
Definition 2 (see [1]). Define $\mathcal{U} \mathcal{Q}(k, \gamma, \beta)$ to be the family of functions $f(z) \in \mathcal{A}$ such that

$$
\begin{equation*}
\Re\left(\frac{\left(z f^{\prime}(z)\right)^{\prime}}{g^{\prime}(z)}\right)>k\left|\frac{\left(z f^{\prime}(z)\right)^{\prime}}{g^{\prime}(z)}-1\right|+\gamma \quad(k \geqq 0 ; \gamma \in[0,1) ; z \in \mathbb{U}) \tag{1.7}
\end{equation*}
$$

for some function $g(z) \in \mathcal{U} \mathcal{K}(k, \beta)$.
It readily follows from Definitions 1 and 2 that

$$
\begin{equation*}
f(z) \in \mathcal{U} \mathcal{Q}(k, \gamma, \beta) \quad \Longleftrightarrow \quad z f^{\prime}(z) \in \mathcal{U C}(k, \gamma, \beta) \tag{1.8}
\end{equation*}
$$

We say that $\mathcal{U C}(0, \gamma, \beta)$ is the class of close-to-convex functions of order $\gamma$ and type $\beta$ in $\mathbb{U}$ and that $\mathcal{U Q}(0, \gamma, \beta)$ is the class of quasi-convex functions of order $\gamma$ and type $\beta$ in $\mathbb{U}$.

Definition 3. For functions $f(z) \in \mathcal{A}$ given by (1.1), and $g(z) \in \mathcal{A}$ given by

$$
\begin{equation*}
g(z)=z+\sum_{n=2}^{\infty} b_{n} z^{n} \tag{1.9}
\end{equation*}
$$

we define the Hadamard product (or convolution) of $f(z)$ and $g(z)$ by

$$
\begin{equation*}
(f * g)(z):=z+\sum_{n=2}^{\infty} a_{n} b_{n} z^{n}=:(g * f)(z) \quad(z \in \mathbb{U}) \tag{1.10}
\end{equation*}
$$

For complex parameters
$\alpha_{j} \in \mathbb{C}(j=1, \cdots, l) \quad$ and $\quad \beta_{j} \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-}\left(j=1, \cdots, m ; \mathbb{Z}_{0}^{-}:=\{0,-1,-2, \cdots\}\right)$, the generalized hypergeometric function ${ }_{l} F_{m}$ (with $l$ numerator and $m$ denominator parameters) is defined by

$$
\begin{equation*}
{ }_{l} F_{m}\left(\alpha_{1}, \cdots, \alpha_{l} ; \beta_{1}, \cdots, \beta_{m}\right)=\sum_{n=0}^{\infty} \frac{\left(\alpha_{1}\right)_{n} \cdots\left(\alpha_{l}\right)_{n}}{\left(\beta_{1}\right)_{n} \cdots\left(\beta_{m}\right)_{n}} \cdot \frac{z^{n}}{n!} \tag{1.11}
\end{equation*}
$$

$$
\left(l \leqq m+l ; l, m \in \mathbb{N}_{0}:=\{0,1,2, \cdots\}=\mathbb{N} \cup\{0\}\right)
$$

where $(\lambda)_{\nu}$ denotes the Pochhammer symbol (or the shifted factorial, since $(1)_{n}=n$ ! for $n \in \mathbb{N}$ ) defined, in terms of the familiar Gamma functions, by

$$
(\lambda)_{\nu}:=\frac{\Gamma(\lambda+\nu)}{\Gamma(\lambda)}= \begin{cases}1 & (\nu=0 ; \lambda \in \mathbb{C} \backslash\{0\}) \\ \lambda(\lambda+1) \cdots(\lambda+n-1) & (\nu=n \in \mathbb{N} ; \lambda \in \mathbb{C})\end{cases}
$$

Now, corresponding to the function

$$
h\left(\alpha_{1}, \cdots, \alpha_{l} ; \beta_{1}, \cdots, \beta_{m} ; z\right)=z_{l} F_{m}\left(\alpha_{1}, \cdots, \alpha_{l} ; \beta_{1}, \cdots, \beta_{m}\right)
$$

the Dziok-Srivastava linear operator (see [3, 4], 5] and [11; see also [7, [14] and [15])

$$
H_{m}^{l}\left(\alpha_{1}, \cdots, \alpha_{l} ; \beta_{1}, \cdots, \beta_{m}\right)
$$

is defined as follows by using the Hadamard product (or convolution):

$$
\begin{align*}
H_{m}^{l}\left(\alpha_{1}, \cdots\right. & \left., \alpha_{l} ; \beta_{1}, \cdots, \beta_{m}\right) f(z) \\
& =h\left(\alpha_{1}, \cdots, \alpha_{l} ; \beta_{1}, \cdots, \beta_{m} ; z\right) * f(z) \\
& =z+\sum_{n=2}^{\infty} \varphi_{n}\left(\alpha_{1}, \cdots, \alpha_{l} ; \beta_{1}, \cdots, \beta_{m}\right) a_{n} z^{n} \tag{1.12}
\end{align*}
$$

where, for convenience,

$$
\varphi_{n}\left(\alpha_{1}, \cdots, \alpha_{l} ; \beta_{1}, \cdots, \beta_{m}\right)
$$

is given by

$$
\begin{equation*}
\varphi_{n}\left(\alpha_{1}, \cdots, \alpha_{l} ; \beta_{1}, \cdots, \beta_{m}\right):=\frac{\left(\alpha_{1}\right)_{n-1} \cdots\left(\alpha_{l}\right)_{n-1}}{\left(\beta_{1}\right)_{n-1} \cdots\left(\beta_{m}\right)_{n-1}} \cdot \frac{1}{(n-1)!} \tag{1.13}
\end{equation*}
$$

It is well known (see, for example, [5]) that

$$
\begin{align*}
& \alpha_{1} H_{m}^{l}\left(\alpha_{1}+1, \alpha_{2}, \cdots, \alpha_{l} ; \beta_{1}, \cdots, \beta_{m}\right) f(z) \\
& =z\left(H_{m}^{l}\left(\alpha_{1}+1, \alpha_{2}, \cdots, \alpha_{l} ; \beta_{1}, \cdots, \beta_{m}\right) f(z)\right)^{\prime} \\
& \quad+\left(\alpha_{1}-1\right) H_{m}^{l}\left(\alpha_{1}, \alpha_{2}, \cdots, \alpha_{l} ; \beta_{1}, \cdots, \beta_{m}\right) f(z) \tag{1.14}
\end{align*}
$$

For notational simplification in our investigation, we write

$$
\begin{equation*}
H_{m}^{l}\left[\alpha_{1}\right] f(z)=H_{m}^{l}\left(\alpha_{1}, \cdots, \alpha_{l} ; \beta_{1}, \cdots, \beta_{m}\right) f(z) \tag{1.15}
\end{equation*}
$$

We now define the linear operator $L_{\lambda, j, m}^{\tau, \alpha_{1}}$ as follows:

$$
\begin{gather*}
L_{\lambda, \alpha_{1}}^{0} f(z)=f(z)  \tag{1.16}\\
L_{\lambda, j, m}^{1, \alpha_{1}} f(z)=(1-\lambda) H_{m}^{l}\left[\alpha_{1}\right] f(z)+\lambda z\left(H_{m}^{l}\left[\alpha_{1}\right] f(z)\right)^{\prime} \\
=L_{\lambda, j, m}^{\alpha_{1}} f(z) \quad(\lambda \geqq 0)  \tag{1.17}\\
L_{\lambda, j, m}^{2, \alpha_{1}} f(z)=L_{\lambda, j, m}^{\alpha_{1}}\left(L_{\lambda, j, m}^{1, \alpha_{1}} f(z)\right) \tag{1.18}
\end{gather*}
$$

and, in general,

$$
\begin{equation*}
L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)=L_{\lambda, j, m}^{\alpha_{1}}\left(L_{\lambda, j, m}^{\tau-1, \alpha_{1}} f(z)\right) \quad\left(l \leqq m+1 ; l, m \in \mathbb{N}_{0} ; \tau \in \mathbb{N}\right) \tag{1.19}
\end{equation*}
$$

If the function $f(z)$ is given by (1.1), then we see from (1.12), (1.13), (1.17) and (1.19) that

$$
\begin{equation*}
L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)=z+\sum_{n=2}^{\infty} \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) a_{n} z^{n} \quad\left(\tau \in \mathbb{N}_{0}\right) \tag{1.20}
\end{equation*}
$$

where

$$
\begin{aligned}
\phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)= & \left(\frac{\left(\alpha_{1}\right)_{n-1} \cdots\left(\alpha_{l}\right)_{n-1}}{\left(\beta_{1}\right)_{n-1} \cdots\left(\beta_{m}\right)_{n-1}} \cdot \frac{[1+\lambda(n-1)]}{(n-1)!}\right)^{\tau} \\
& \left(n \in \mathbb{N} \backslash\{1\} ; \tau \in \mathbb{N}_{0}\right) .
\end{aligned}
$$

When

$$
\tau=1 \quad \text { and } \quad \lambda=0
$$

the linear operator $L_{\lambda, j, m}^{\tau, \alpha_{1}}$ would reduce to the familiar Dziok-Srivastava linear operator given by (1.12) above (see, for example, [3]). For a linear operator which is essentially analogous to the Dziok-Srivastava operator in (1.12), but uses instead the Fox-Wright generalization of the hypergeometric function ${ }_{l} F_{m}$ defined here by (1.11), the interested reader may be referred to the recent works [2] and [12] as well as to the closely-related works cited in each of these recent works.

By applying the general operator $L_{\lambda, j, m}^{\tau, \alpha_{1}}$, we define the following subclasses of the function class $\mathcal{A}$.
I. Let $\mathcal{U} \mathcal{S}_{m}^{l}(\tau, \lambda, k, \beta)$ be the class of functions $f(z) \in \mathcal{A}$ satisfying the following inequality:

$$
\begin{equation*}
\Re\left(\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)}\right)>k\left|\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)}-1\right|+\beta \quad(k \geqq 0 ; \beta \in[0,1)) \tag{1.22}
\end{equation*}
$$

Observe that

$$
L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z) \in \mathcal{U S}(k, \beta)
$$

II. Let $\mathcal{U K}_{m}^{l}(\tau, \lambda, k, \beta)$ be the class of functions $f(z) \in \mathcal{A}$ satisfying the following inequality:

$$
\begin{equation*}
\Re\left(1+\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime \prime}}{\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}\right)>k\left|\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime \prime}}{\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}\right|+\beta \quad(k \geqq 0 ; \beta \in[0,1)) \tag{1.23}
\end{equation*}
$$

Observe that

$$
L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z) \in \mathcal{U} \mathcal{K}(k, \beta) .
$$

III. Let $\mathcal{U C}^{l}{ }_{m}(\tau, \lambda, k, \gamma, \beta)$ be the class of functions $f \in \mathcal{A}$ such that

$$
\begin{equation*}
\Re\left(\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}\right)>k\left|\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}-1\right|+\gamma \quad(k \geqq 0 ; \gamma \in[0,1)) \tag{1.24}
\end{equation*}
$$

for some function $g(z) \in \mathcal{U S}_{m}^{l}(\tau, k, \beta)$. Observe that

$$
L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z) \in \mathcal{U C}(k, \gamma, \beta)
$$

IV. Let $\mathcal{U} \mathcal{Q}_{m}^{l}(\tau, \lambda, k, \gamma, \beta)$ be the class of functions $f \in \mathcal{A}$ such that

$$
\begin{equation*}
\Re\left(1+\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime \prime}}{\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)\right)^{\prime}}\right)>k\left|\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime \prime}}{\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)\right)^{\prime}}\right|+\gamma \quad(k \geqq 0 ; \gamma \in[0,1)) \tag{1.25}
\end{equation*}
$$

for some function $g(z) \in \mathcal{U}_{m}^{l}(\tau, \lambda, k, \beta)$. Observe that

$$
L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z) \in \mathcal{U} \mathcal{K}(k, \gamma, \beta) .
$$

It is clear from two of the above definitions that

$$
\begin{equation*}
f(z) \in \mathcal{U K}_{m}^{l}(\tau, \lambda, k, \beta) \Longleftrightarrow z f^{\prime}(z) \in \mathcal{U C}_{m}^{l}(\tau, \lambda, k, \beta) \tag{1.26}
\end{equation*}
$$

Finally, in terms of the above-defined function classes, we write

$$
\begin{aligned}
\mathcal{U} \mathcal{S}_{l, m}^{-}(\tau, \lambda, k, \beta) & =\mathcal{A}^{-} \cap \mathcal{U S}_{m}^{l}(\tau, \lambda, k, \beta) \\
\mathcal{U K}_{l, m}^{-}(\tau, \lambda, k, \beta) & =\mathcal{A}^{-} \cap \mathcal{U} \mathcal{K}_{m}^{l}(\tau, \lambda, k, \beta) \\
\mathcal{U C}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta) & =\mathcal{A}^{-} \cap \mathcal{U C}_{m}^{l}(\tau, \lambda, k, \gamma, \beta)
\end{aligned}
$$

and

$$
\mathcal{U} \mathcal{Q}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta)=\mathcal{A}^{-} \cap \mathcal{U} \mathcal{Q}_{m}^{l}(\tau, \lambda, k, \gamma, \beta)
$$

The various properties and characteristics of functions in the class $\mathcal{U} \mathcal{S}_{m}^{l}(1,0, k, \beta)$ were investigated by Dziok and Srivastava [3. In this paper, we obtain several relationships and properties of the convolution operators considered here. Our paper mainly studies the functions in the class $\mathcal{U C}^{l}{ }_{m}(\tau, \lambda, k, \beta)$. We first prove a sufficient condition for a function $f \in \mathcal{A}$ to be in the class $\mathcal{U} \mathcal{C}_{m}^{l}(\tau, \lambda, k, \beta)$. We then provide necessary and sufficient coefficient conditions, extreme points, integral representations, distortion bounds, radii of starlikeness and convexity for functions in the class $\mathcal{U C}_{m}^{l}(\tau, \lambda, k, \beta)$.

## 2. First Set of Main Results

First of all, we obtain a sufficient condition for a function $f \in \mathcal{A}$ to be in the class $\mathcal{U C}^{l}{ }_{m}(\tau, \lambda, k, \gamma, \beta)$.
Theorem 1. Let $f(z) \in \mathcal{A}$ be given by (1.1). Suppose also that $\phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)$ is given by (1.21). If

$$
k \geqq 0, \quad \beta \in[0,1), \quad \gamma \in[0,1), \quad \lambda \geqq 0, \quad \tau \in \mathbb{N}_{0}
$$

and

$$
\sum_{n=2}^{\infty}\left[2 k\left|n a_{n}-b_{n}\right|+(1-\gamma)\left|b_{n}\right|\right] \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)<1-\gamma
$$

then $f(z) \in \mathcal{U C}_{m}^{l}(\tau, \lambda, k, \gamma, \beta)$.
Proof. By the definition of the function class $\mathcal{U C}_{m}^{l}(\tau, \lambda, k, \gamma, \beta)$, it suffices to show for a function $f(z) \in \mathcal{A}$ given by (1.1) that

$$
\begin{align*}
& k\left|\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}-1\right|-\Re\left(\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}-\gamma\right) \\
& \quad \leqq 2 k\left|\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}-1\right| \\
& \quad \leqq 2 k \frac{\sum_{n=2}^{\infty} \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)\left|n a_{n}-b_{n}\right| \cdot|z|^{n-1}}{1-\sum_{n=2}^{\infty} \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)\left|b_{n}\right| \cdot|z|^{n-1}} . \tag{2.1}
\end{align*}
$$

Now the last expression in (2.1) is bounded above by $1-\gamma$ if and only if

$$
\sum_{n=2}^{\infty}\left[2 k\left|n a_{n}-b_{n}\right|+(1-\gamma)\left|b_{n}\right|\right] \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)<1-\gamma
$$

which evidently completes the proof of Theorem 1.
We next provide a necessary and sufficient coefficient bound for a given function $f(z) \in \mathcal{A}^{-}$to belong to the class $\mathcal{U} \mathcal{C}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta)$.

Theorem 2. Let $f(z) \in \mathcal{A}^{-}$be given by (1.2). Also let $\phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)$ be given by (1.21). Then $f \in \mathcal{U C}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta)$ if and only if

$$
\begin{equation*}
\sum_{n=2}^{\infty}\left[n(1+k) a_{n}-(k+\gamma) b_{n}\right] \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)<1-\gamma \tag{2.2}
\end{equation*}
$$

Proof. Suppose that $f(z) \in \mathcal{U C}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta)$. Then, making use of the fact that

$$
\Re(\omega)>k|\omega-1|+\gamma \Longleftrightarrow \Re\left(\omega\left(1+k e^{i \phi}\right)-k e^{i \phi}\right)>\gamma \quad(\gamma \in \mathbb{R})
$$

and letting

$$
\omega=\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}
$$

in (1.3), we obtain

$$
\Re\left(\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}\left(1+k e^{i \phi}\right)-k e^{i \phi}\right)>\gamma
$$

or, equivalently,

$$
\Re\left(\frac{\left(1+k e^{i \phi}\right) z\left(z-\sum_{n=2}^{\infty} \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) a_{n} z^{n}\right)^{\prime}-\left(k e^{i \phi}+\gamma\right)\left(z-\sum_{n=2}^{\infty} \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) b_{n} z^{n}\right)}{z-\sum_{n=2}^{\infty} \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) b_{n} z^{n}}\right)>0
$$

which holds true for all $z \in \mathbb{U}$. By letting $z \rightarrow 1$ - through real values, we thus find that

$$
\Re\left(\frac{(1-\gamma)-\left(1+k e^{i \phi}\right) \sum_{n=2}^{\infty} n \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) a_{n}+\left(\gamma+k e^{i \phi}\right) \sum_{n=2}^{\infty} \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) b_{n}}{1-\sum_{n=2}^{\infty} \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) b_{n}}\right)>0
$$

and so (by the mean value theorem) we have
$\Re\left((1-\beta)-\left(1+k e^{i \gamma}\right) \sum_{n=2}^{\infty} n \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) a_{n}+\left(\beta+k e^{i \phi}\right) \sum_{n=2}^{\infty} \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) b_{n}\right)>0$.
Therefore, we get

$$
\sum_{n=2}^{\infty}\left[n(1+k) a_{n}-(k+\gamma) b_{n}\right] \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)<1-\gamma
$$

which proves the first part of Theorem 2.
Conversely, we let the inequality (2.2) hold true.
Then, in light of the fact that

$$
\Re(\omega)>\gamma \Longleftrightarrow|\omega-(1+\gamma)|<|\omega+(1-\gamma)| \quad(\gamma \in \mathbb{R})
$$

we need only to show that

$$
\begin{aligned}
& \left|\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}-\left(1+k\left|\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}-1\right|\right)+\gamma\right| \\
& \quad<\left|\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}+\left(1-k\left|\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}-1\right|\right)-\gamma\right|
\end{aligned}
$$

By setting

$$
\frac{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}{\left|L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)\right|}=e^{i \vartheta}
$$

we may write

$$
\begin{aligned}
\mathfrak{E} & =\left|\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}+\left(1-k\left|\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}-1\right|-\gamma\right)\right| \\
& =\frac{|z|}{\left|L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)\right|}\left|\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}+(1-\gamma) \frac{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}{z}-k\right|\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}-\frac{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}{z}| | \\
& \left.=\frac{|z|}{\left|L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)\right|} \right\rvert\,(2-\gamma)-\sum_{n=2}^{\infty}\left[n a_{n}+(1-\gamma) b_{n}\right] \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) z^{n-1} \\
& >\frac{-e^{i \vartheta}\left|-\sum_{n=2}^{\infty}\left(k n a_{n}-k b_{n}\right) \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) z^{n-1}\right| \mid}{\left|L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)\right|}\left((2-\gamma)-\sum_{n=2}^{\infty}\left(n(1+k) a_{n}+(1-k-\gamma) b_{n}\right) \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)\right)
\end{aligned}
$$

and

$$
\begin{aligned}
\mathfrak{F} & =\left|\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}-\left(1+k\left|\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}-1\right|+\gamma\right)\right| \\
& =\frac{|z|}{\left|L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)\right|}\left|\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}-(1+\gamma) \frac{L_{\lambda, l, m}^{\tau, \alpha_{1}} g(z)}{z}-k\right|\left(H_{m}^{l}\left[\alpha_{1}\right] f(z)\right)^{\prime}-\frac{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}{z}| | \\
& \left.=\frac{|z|}{\left|L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)\right|} \right\rvert\,-\gamma-\sum_{n=2}^{\infty}\left[n a_{n}-(1+\gamma) b_{n}\right] \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) z^{n-1} \\
& \quad-e^{i \vartheta}\left|-\sum_{n=2}^{\infty}\left(k n a_{n}-k b_{n}\right) \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) z^{n-1}\right| \mid \\
& <\frac{|z|}{\left|L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)\right|}\left(\gamma+\sum_{n=2}^{\infty}\left[n(1+k) a_{n}-(1+k+\gamma) b_{n}\right] \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)\right)
\end{aligned}
$$

It is easy to verify that

$$
\mathfrak{E}-\mathfrak{F}>0
$$

in case the inequality (2.2) holds true. The proof of Theorem 2 is thus completed.

When

$$
f(z)=g(z) \quad(z \in \mathbb{U})
$$

Theorem 2 would yield the following corollary.
Corollary 1. Let $g(z) \in \mathcal{A}^{-}$be given by

$$
\begin{equation*}
g(z)=z-\sum_{n=2}^{\infty} b_{n} z^{n} \quad\left(b_{n} \geqq 0\right) \tag{2.3}
\end{equation*}
$$

Then $g(z) \in \mathcal{U} \mathcal{S}_{l, m}^{-}(\tau, \lambda, k, \beta)$ if and only if

$$
\sum_{n=2}^{\infty} \frac{[(n-1) k+n-\beta] b_{n} \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}{1-\beta}<1
$$

Corollary 2. If $g(z) \in \mathcal{U} \mathcal{S}_{l, m}^{-}(\tau, \lambda, k, \beta)$ is given by (2.3), then

$$
\sum_{n=2}^{\infty} b_{n}<\frac{1-\beta}{(2+k-\beta) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}
$$

Proof. Since $g(z) \in \mathcal{U} \mathcal{S}_{l, m}^{-}(\tau, \lambda, k, \beta)$ is given by (2.3), we can apply Corollary 1 to obtain

$$
\begin{aligned}
(k+2-\beta & ) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) \sum_{n=2}^{\infty} b_{n} \\
& \leqq \sum_{n=2}^{\infty} b_{n}[(n-1) k+n-\beta] \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) \\
& <1-\beta
\end{aligned}
$$

We thus find that

$$
\sum_{n=2}^{\infty} b_{n}<\frac{1-\beta}{(2+k-\beta) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}
$$

which proves Corollary 2.
Corollary 3. If $g(z) \in \mathcal{U} \mathcal{S}_{l, m}^{-}(\tau, \lambda, k, \beta)$ is given by (2.3), then

$$
b_{n}<\frac{1-\beta}{(2+k-\beta) a_{n} \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}
$$

## 3. Further Results and Consequences

In this section, several further results involving the various function classes which were introduced in Section 1.

Theorem 3. If $g(z) \in \mathcal{U} \mathcal{S}_{l, m}^{-}(\tau, \lambda, k, \beta)$, then

$$
\begin{equation*}
L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)=\exp \left(\int_{0}^{z} \frac{k-\beta Q(t)}{t[k-Q(t)]} d t\right) \quad(|Q(z)|<1 ; z \in \mathbb{U}) \tag{3.1}
\end{equation*}
$$

and

$$
\begin{equation*}
L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)=\exp \left(\int_{|x|=1} \log \left[(k-x z)^{-1-\beta}\right] d \mu(x)\right) \tag{3.2}
\end{equation*}
$$

where $\mu(x)$ is a probability measure on the set:

$$
X=\{x:|x|=1\}
$$

Proof. The case $k=0$ of the assertion (3.1) if Theorem 3 is obvious. Let $k \neq 0$. Then, for

$$
g(z) \in U S_{l, m}^{-}(k, \beta) \quad \text { and } \quad \omega=\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}
$$

we have

$$
\Re(\omega)>k|\omega-1|+\beta .
$$

We thus find that

$$
\left|\frac{\omega-1}{\omega-\beta}\right|<\frac{1}{k} \quad \text { and } \quad \frac{\omega-1}{\omega-\beta}=\frac{Q(z)}{k} \quad(|Q(z)|<1 ; z \in \mathbb{U})
$$

which readily yields

$$
\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}=\frac{k-\beta Q(z)}{z[k-Q(z)]}
$$

and, therefore,

$$
L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)=\exp \left(\int_{0}^{z} \frac{k-\beta Q(t)}{t[k-Q(t)]} d t\right)
$$

In order to derive the second representation (3.2), corresponding to the set:

$$
X=\{x:|x|=1\}
$$

we observe that

$$
\frac{\omega-1}{\omega-\beta}<\frac{1}{k} x z
$$

or, equivalently, that

$$
\begin{aligned}
& \frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}=\frac{k-\beta Q(z)}{z[k-Q(z)]} \\
& \quad \Longrightarrow \log \left(\frac{H_{m}^{l}\left[\alpha_{1}\right] g(z)}{z}\right)=-(1+\beta) \log (k-x z)
\end{aligned}
$$

Thus, if $\mu(x)$ is the probability measure on $X$, then

$$
L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)=\exp \left(\int_{|x|=1} \log \left[(k-x z)^{-1-\beta}\right] d \mu(x)\right)
$$

Theorem 4. If $f(z) \in \mathcal{U C}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta)$, then

$$
\begin{equation*}
L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)=\int_{0}^{z}\left[\frac{k-\gamma Q(t)}{k-Q(t)} \exp \left(\int_{|x|=1} \log \left[(k-x t)^{-1-\beta}\right] d \mu(x)\right)\right] d t \tag{3.3}
\end{equation*}
$$

where $\mu(x)$ is a probability measure on the following set:

$$
X=\{x:|x|=1\}
$$

Proof. The case $k=0$ of the assertion (3.3) of Theorem 4 is obvious. Let $k \neq 0$. Then, for

$$
f \in \mathcal{U C}_{l, m}^{-}(\tau, \lambda, k, \beta) \quad \text { and } \quad \omega=\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}
$$

we have

$$
\Re(\omega)>k|\omega-1|+\gamma
$$

We thus find that

$$
\left|\frac{\omega-1}{\omega-\gamma}\right|<\frac{1}{k} \quad \text { and } \quad \frac{\omega-1}{\omega-\gamma}=\frac{Q(z)}{k} \quad(|Q(z)|<1 ; z \in \mathbb{U})
$$

which easily yields

$$
\begin{equation*}
\frac{z\left(L_{\lambda, j, m}^{\tau, \alpha_{1}} f(z)\right)^{\prime}}{L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)}=\frac{k-\gamma Q(z)}{z[k-Q(z)]} \tag{3.4}
\end{equation*}
$$

Moreover, from Theorem 3, we have

$$
\begin{equation*}
L_{\lambda, j, m}^{\tau, \alpha_{1}} g(z)=\exp \left(\int_{|x|=1} \log \left[(k-x z)^{-1-\beta}\right] d \mu(x)\right) \tag{3.5}
\end{equation*}
$$

where $\mu(x)$ is a probability measure on the set:

$$
X=\{x:|x|=1\}
$$

The assertion (3.3) of Theorem 4 would now follow from (3.4) and (3.5).
Next we obtain a distortion bounds for the functions $f(z)$ and $g(z)$.
Theorem 5. If $g(z) \in \mathcal{U} \mathcal{S}_{l, m}^{-}(\tau, \lambda, k, \beta)$, then

$$
\begin{align*}
& |z|-\frac{1-\beta}{(2+k-\beta) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}|z|^{2} \\
& \quad \quad<|g(z)|<|z|+\frac{1-\beta}{(2+k-\beta) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}|z|^{2} \quad(z \in \mathbb{U}) \tag{3.6}
\end{align*}
$$

and

$$
\begin{align*}
& 1-\frac{2(1-\beta)}{(2+k-\beta) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}|z| \\
& \quad<\left|g^{\prime}(z)\right|<1+\frac{2(1-\beta)}{(2+k-\beta) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}|z| \quad(z \in \mathbb{U}) \tag{3.7}
\end{align*}
$$

Proof. For $g(z) \in \mathcal{U} \mathcal{S}_{l, m}^{-}(\tau, \lambda, k, \beta)$ given by (2.3), we find from Corollary 2 that

$$
\begin{equation*}
\sum_{n=2}^{\infty} b_{n}<\frac{1-\beta}{(2+k-\beta) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)} \tag{3.8}
\end{equation*}
$$

which implies that

$$
|g(z)| \leqq|z|+|z|^{2} \sum_{n=2}^{\infty} b_{n}<|z|+\frac{1-\beta}{(2+k-\beta) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}|z|^{2} \quad(z \in \mathbb{U})
$$

and

$$
|g(z)| \geqq|z|-|z|^{2} \sum_{n=2}^{\infty} b_{n}>|z|-\frac{1-\beta}{(2+k-\beta) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}|z|^{2} \quad(z \in \mathbb{U})
$$

Thus the assertion (3.6) of Theorem 5 follows at once.
In a similar manner, for the derivative $g^{\prime}(z)$, the following inequalities:

$$
\left|g^{\prime}(z)\right| \leqq 1+\sum_{n=2}^{\infty} n b_{n}|z|^{n-1}<1+|z| \sum_{n=2}^{\infty} n b_{n} \quad(z \in \mathbb{U})
$$

and

$$
\sum_{n=2}^{\infty} n b_{n}<\frac{2(1-\beta)}{(2+k-\beta) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}
$$

lead us immediately to the assertion (3.7) of Theorem 5. This completes the proof of Theorem 5 .

Theorem 6. If $f \in \mathcal{U C}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta)$, then

$$
\begin{align*}
|z| & -\frac{1-\gamma}{2(1+k) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}\left(1+\frac{(k+\gamma)(1-\beta)}{(1-\gamma)(2+k-\beta)}\right)|z|^{2}<|f(z)| \\
& <|z|+\frac{1-\gamma}{2(1+k) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}\left(1+\frac{(k+\gamma)(1-\beta)}{(1-\gamma)(2+k-\beta)}\right)|z|^{2} \quad(z \in \mathbb{U}) \tag{3.9}
\end{align*}
$$

and

$$
\begin{align*}
1- & \frac{1-\gamma}{(1+k) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}\left(1+\frac{(k+\gamma)(1-\beta)}{(1-\gamma)(2+k-\beta)}\right)|z|<\left|f^{\prime}(z)\right| \\
& <1+\frac{1-\gamma}{(1+k) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}\left[1+\frac{(k+\gamma)(1-\beta)}{(1-\gamma)(2+k-\beta)}\right]|z| \quad(z \in \mathbb{U}) \tag{3.10}
\end{align*}
$$

Proof. For $f \in \mathcal{U C}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta)$ given by (1.2), by using Theorem 1, we obtain

$$
\begin{align*}
2(1+k) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) \sum_{n=2}^{\infty} a_{n} & <\sum_{n=2}^{\infty} n(1+k) a_{n} \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) \\
& <1-\gamma+\sum_{n=2}^{\infty}(k+\gamma) b_{n} \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) \tag{3.11}
\end{align*}
$$

which immediately yields

$$
\begin{align*}
& \sum_{n=2}^{\infty} a_{n}<\frac{1-\gamma}{2(1+k) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)} \\
& \quad+\frac{k+\gamma}{2(1+k) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)} \sum_{n=2}^{\infty} b_{n} \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right) \tag{3.12}
\end{align*}
$$

Also, by applying Corollary 1, we have

$$
\sum_{n=2}^{\infty} b_{n} \phi_{n}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)<\frac{1-\beta}{2+k-\beta},
$$

so that

$$
\begin{aligned}
|f(z)| & \leqq|z|+|z|^{2} \sum_{n=2}^{\infty} a_{n} \\
& <|z|+\frac{1-\gamma}{2(1+k) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}\left(1+\frac{(k+\gamma)(1-\beta)}{(1-\gamma)(2+k-\beta)}\right)|z|^{2} \quad(z \in \mathbb{U})
\end{aligned}
$$

Similarly, we can show that

$$
\begin{aligned}
|f(z)| & \geqq|z|-|z|^{2} \sum_{n=2}^{\infty} a_{n} \\
& >|z|-\frac{1-\gamma}{2(1+k) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}\left(1+\frac{(k+\gamma)(1-\beta)}{(1-\gamma)(2+k-\beta)}\right)|z|^{2} \quad(z \in \mathbb{U})
\end{aligned}
$$

We thus have proved the assertion (3.9) of Theorem 6.
In a similar manner, for the derivative $f^{\prime}(z)$, the following inequalities:

$$
\left|f^{\prime}(z)\right| \leqq 1+\sum_{n=2}^{\infty} n a_{n}|z|^{n-1}<1+|z| \sum_{n=2}^{\infty} n a_{n} \quad(z \in \mathbb{U})
$$

and

$$
\sum_{n=2}^{\infty} n a_{n}<\frac{1-\gamma}{(1+k) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}\left[1+\frac{(k+\gamma)(1-\beta)}{(1-\gamma)(2+k-\beta)}\right]
$$

lead us to the assertion (3.12) of Theorem 6. This evidently completes the proof of Theorem 6.

It is not difficult to deduce Corollary 4 below.
Corollary 4. Let $f \in \mathcal{U C}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta)$. Then

$$
\begin{align*}
& \left\{\omega:|\omega|<1-\frac{1-\gamma}{(1+k) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}\left(1+\frac{(k+\gamma)(1-\beta)}{(1-\gamma)(2+k-\beta)}\right)\right\} \subset f(\mathbb{U}) \\
& \quad \subset\left\{\omega:|\omega|<1+\frac{1-\gamma}{(1+k) \phi_{2}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)}\left(1+\frac{(k+\gamma)(1-\beta)}{(1-\gamma)(2+k-\beta)}\right)\right\} . \tag{3.13}
\end{align*}
$$

Theorem 7 below follows easily from Corollary 1. In fact, the proof of Theorem 7 is essentially analogous to that of Theorem 8, which we have chosen to present here in detail.

Theorem 7. Let

$$
g_{m}(z)=z-\sum_{n=2}^{\infty} b_{j, m} z^{j} \in \mathcal{U} \mathcal{S}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta) \quad(m=1,2)
$$

Then

$$
\begin{array}{r}
g(z)=(1-\xi) g_{1}(z)+\xi g_{2}(z)=z-\sum_{j=2}^{\infty} b_{j} z^{j} \\
\in \mathcal{U S}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta) \quad(0 \leqq \xi \leqq 1) \tag{3.14}
\end{array}
$$

Theorem 8. Let

$$
f_{m}(z)=z-\sum_{n=2}^{\infty} a_{j, m} z^{j} \in \mathcal{U C}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta) \quad(m=1,2)
$$

Then

$$
\begin{align*}
f(z) & =(1-\xi) f_{1}(z)+\xi f_{2}(z)=z-\sum_{j=2}^{\infty} a_{j} z^{j} \\
& \in \mathcal{U C}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta) \quad(0 \leqq \xi \leqq 1) \tag{3.15}
\end{align*}
$$

Proof. Since

$$
f_{m}(z) \in \mathcal{U C}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta) \quad(m=1,2)
$$

by using Theorem 2, we get the following coefficient inequalities:

$$
\sum_{j=2}^{\infty}\left[(1+k) j a_{j, 1} \phi_{j}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)-(k+\gamma) b_{j, 1} \phi_{j}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)\right]<1-\gamma
$$

and

$$
\sum_{j=2}^{\infty}\left[(1+k) j a_{j, 2} \phi_{j}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)-(k+\gamma) b_{j, 2} \phi_{j}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)\right]<1-\gamma
$$

Furthermore, in view of the following obvious relationships:

$$
\begin{gathered}
a_{j}=(1-\xi) a_{j, 1}+\xi a_{j, 2} \quad \text { and } \quad b_{j}=(1-\xi) b_{j, 1}+\xi b_{j, 2} \\
(j \in \mathbb{N} \backslash\{1\} ; 0 \leqq x i \leqq 1)
\end{gathered}
$$

we thus find that

$$
\begin{aligned}
\sum_{j=2}^{\infty}[ & \left.(1+k) j a_{j} \phi_{j}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)-(k+\gamma) b_{j} \phi_{j}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)\right] \\
= & \sum_{j=2}^{\infty}(1+k) j \phi_{j}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)\left[(1-\xi) a_{j, 1}(z)+\xi a_{j, 2}(z)\right] \\
& \quad-\sum_{j=2}^{\infty}(k+\gamma) b_{j} \phi_{j}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)\left[(1-\xi) b_{j, 1}(z)+\xi b_{j, 2}(z)\right] \\
= & \sum_{j=2}^{\infty}(1-\xi)\left[(1+k) j a_{j, 1} \phi_{j}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)-(k+\beta) b_{j, 1} \phi_{j}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)\right] \\
& \quad+\sum_{j=2}^{\infty} \xi\left[(1+k) j a_{j, 2} \phi_{j}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)-(k+\gamma) b_{j, 2} \phi_{j}^{\tau}\left(\alpha_{1}, \lambda, l, m\right)\right] \\
\leqq & (1-\xi)(1-\gamma)+\xi(1-\gamma)=1-\gamma .
\end{aligned}
$$

Thus, by using Theorem 2 again, we finally obtain

$$
f(z) \in \mathcal{U C}_{l, m}^{-}(\tau, \lambda, k, \gamma, \beta)
$$

which completes the proof of Theorem 8.

We remark in conclusion that, by suitably specializing the parameters involved in the results presented in this paper, we can deduce numerous further corollaries and consequences of each of these results.

Acknowledgments. The present investigation was partially supported by the Natural Science Foundation of Inner Mongolia under Grant 2009MS0113 and by the Higher School Research Foundation of Inner Mongolia under Grant NJzy08150.

## References

[1] R. Aghalary, G. Azadi, The Dziok-Srivastava operator and $k$-uniformly starlike functions, J. Inequal. Pure Appl. Math. 6 (2) (2005), Article 52, 1-7 (electronic).
[2] J. Dziok, R. K. Raina, H. M. Srivastava, Some classes of analytic functions associated with operators on Hilbert space involving Wright's generalized hypergeometric function, Proc. Jangjeon Math. Soc. 7 (2004) 43-55.
[3] J. Dziok, H. M. Srivastava, Classes of analytic functions associated with the generalized hypergeometric function, Appl. Math. Comput. 103 (1999) 1-13.
[4] J. Dziok, H. M. Srivastava, Some subclasses of analytic functions with fixed argument of coefficients associated with the generalized hypergeometric function, Adv. Stud. Contemp. Math. 5 (2002) 115-125.
[5] J. Dziok, H. M. Srivastava, Certain subclasses of analytic functions associated with the generalized hypergeometric function, Integral Transform. Spec. Funct. 14 (2003) 7-18.
[6] S. Kanas, H. M. Srivastava, Linear operators associated with $k$-uniformly convex functions, Integral Transform. Spec. Funct. 9 (2000) 121-132.
[7] J.-L. Liu, H. M. Srivastava, A class of multivalently analytic functions associate with the Dziok-Srivastava operator, Integral Transform. Spec. Funct. 20 (2009) 401-417.
[8] C. Ramachandran, H. M. Srivastava, A. Swaminathan, A unified class of $k$-uniformly convex functions defined by the Sălăgean derivative operator, Atti Sem. Mat. Fis. Modena Reggio Emilia 55 (2007) 47-59.
[9] S. Shams, S. R. Kulkarni, J. M. Jahangiri, On a class of univalent functions defined by Ruscheweyh derivatives, Kyungpook Math. J. 43 (2003) 579-585.
[10] S. Shams, S. R. Kulkarni, J. M. Jahangiri, Classes of uniformly starlike and convex functions, Internat. J. Math. Math. Sci. 2004 (2004) 2959-2961.
[11] H. M. Srivastava, Some families of fractional derivative and other linear operators associated with analytic, univalent, and multivalent functions, in Analysis and Its Applications (Chennai; December 6-9, 2000) (K. S. Lakshmi, R. Parvatham and H. M. Srivastava, Editors), pp. 209-243, Allied Publishers Limited, New Delhi, Mumbai, Calcutta and Chennai, 2001.
[12] H. M. Srivastava, Some Fox-Wright generalized hypergeometric functions and associated families of convolution operators, in Proceedings of the International Conference on Topics in Mathematical Analysis and Graph Theory (Belgrade; September 1-4, 2007), Appl. Anal. Discrete Math. (Special Issue) 1 (1) (2007) 56-71.
[13] H. M. Srivastava, S. Owa (Editors), Current Topics in Analytic Function Theory, World Scientific Publishing Company, Singapore, New Jersey, London and Hong Kong, 1992.
[14] H. M. Srivastava, D.-G. Yang, N-E. Xu, Subordinations for multivalent analytic functions associated with the Dziok-Srivastava operator, Integral Transform. Spec. Funct. 20 (2009) 581-606.
[15] Z.-G. Wang, Y.-P. Jiang, H. M. Srivastava, Some subclasses of multivalent analytic functions involving the Dziok-Srivastava operator, Integral Transform. Spec. Funct. 19 (2008) 129-146.
H. M. Srivastava

Department of Mathematics and Statistics, University of Victoria, Victoria,
British Columbia V8W 3R4, Canada
E-mail address: harimsri@math.uvic.ca

Shu-Hai Li
Department of Mathematics, Chifeng University, Chifeng, Inner Mongolia 024000,
People's Republic of China
E-mail address: lishms66@sina.com

Huo Tang
Department of Mathematics, Chifeng University, Chifeng, Inner Mongolia 024000, People's Republic of China

E-mail address: thth80@tom.com


[^0]:    2000 Mathematics Subject Classification. Primary 30C45, 33C20; Secondary 30C50.
    Key words and phrases. Analytic functions; $k$-uniformly convex functions; $k$-uniformly starlike functions; $k$-uniformly close-to-convex functions; $k$-uniformly quasi-convex functions; Hadamard product (or convolution); generalized hypergeometric function; Pochhammer symbol; Gamma function; Dziok-Srivastava operator; Fox-Wright generalization of the hypergeometric function.
    (C)2009 Universiteti i Prishtinës, Prishtinë, Kosovë.

    Submitted October, 2009. Published November, 2009.

